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Introduction
This policy outlines the strategies used for calculations taught and learnt at St Elizabeth's Voluntary Catholic Academy.

Within key stage 1 pupils develop confidence and mental fluency with whole numbers, counting and place value. This should involve working with numerals,
words and, the four operations, including with practical resources [for example, concrete objects and measuwring tools]. By the end of year 2, pupils should know
the numher honds to 20 and be precise in using and understanding place value. An emphasis on pructice at this early stage will aid, fluency.

The principal focus of mathematics teaching in lower key stage 2 is to enswre that pupils become increasingly fluent with whole numhers and the four
calculations accurately with increasingly large whole numhbers. By the end of year 4, pupils should have memorised their multiplication tables up to and,
including the 12-multiplication table and show precision and fluency in their work.

The principal focus of mathematics teaching in upper key stage 2 is to ensure that pupils extend their understanding of the number system and place value to
include larger integers. This should develop the connections that pupils make hetween multiplication and division with fractions, decimals, percentages and
ratio. At this stage, pupils should develop their ahility to solve a wider range of problems, including increasingly complex properties of numhbers and arithmetic,
and problems demanding efficient written and mental methods of calculation. With this foundation in arithmetic, pupils are introduced to the language of
algehra as a means for solving a variety of problems. By the end of year 6, pupils should, be fluent in written methods for all four operations, including long
multiplication and division, and, in working with fractions, decimals and percentages.

CPA approuch
To support children with their calculating, the CPA approuch will be adopted in all year groups. C stands for concrete, meaning children have access to

manipulatives to support their working out, such as place value counters or numicon. P stands for pictorial, so children start to use visual representations such
as har models. A is abstruct where children can confidently calculate without the use of concrete or visuals tor support.
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Children develop the core ideas that underpin all calculation. They begin by connecting calculation with counting on and counting hack, but they should learn that
understanding wholes and parts will enahble them to calculate efficiently and accwrately, and with greater flexibility. Children record their calculations in their own ways,
there is no expectation of numher sentences at this stage however children may choose this way to record their thinking.

Key language: whole, part, ones, ten, tens, numher hond, add, addition, plus, total, altogether, subtract, subtraction, find the difference, take away, minus, less, more,
group, share, equal, equals, is equal to, groups, equal groups, divide, share, shared equally

Addition: Children start to explore addition by
sorting groups. They then use sorting to develop
their understanding of parts and wholes. Children
comhine groups to find the whole, using a part-
use the part-whole model to find numhber bonds
within and to 10. Using o five frame and ten
using counters or cubes on the frames. Children
use a number track to- add by counting orn.
Linking this learning to playing howrd games is
an effective way to support children’s addition

Introducing the part-whole model Children sort

One part is the

The other part is the Y; ]

Subtraction: Children start to explore subtruction by
sorting groups. They use sorting to develop their
understanding of parts and wholes. When comparing
groups, children use the language more than and fewer
move into KS1. Children then connect subtraction with the
idea of counting back and finding one less using a five
fmmtosupporbmwthmm They explomsubimouon
of parts and wholes. Thi&ww,swmwdmrdcpjng recall of
numher honds. Children count back within 20 using

away.

Counting hack and taking away (numher track) Children
use game hoards and human numhber tracks to subtract
by counting back.

@ m 9 take away 3 equals 6
boq 3

9..8..7..6
R8N _
[1 234567830\

Multiplication and Division: Children first start to look at
the idea of equal groups through their exploration of
doubles. They use five frames and ohjects to check that
groups are equal. Children then explore halving numhbers by
making 2 equal groups. They highlight patterns bebween
doubling and halving seeing that douhble 2 is 4 and half of
4 is 2. As well as halving, children also explore sharing into
more than 2 equal groups. They share objects 1 by 1,
ensuring that each group has an equal share.

Making douhles Children explore doubles in their
enwironment including in games such as on dominoes or
dice. They focus on the understanding of doubles heing 2
equal groups

Douhle 4 is 8 Douhble 2 is 4 Douhble 3 is 6

Halving and sharing Children use five frames to share
amounts fairly and to check that the groups are equal. They
share the counters/cuhes one hy one.
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Addition and Subtraction

parts and wholes, and an understanding of unitising 10s, to develop efficient and effective calculation strutegies hased on known numher
honds and an increasing awwreness of place value. Addition and subtruction are taught in a way that is interlinked to highlight the link
hetween the two operutions.
A key idea is that children will select methods and approuches hased on their numher sense. For example, in Year 1, when faced with 15 - 3
and 15 - 13, they will adapt their ways of approuching the calculation appropriately. The teaching should always emphasise the
hamess their recall of honds within 20 to support hoth addition and subtruction methods.
Addition Concrete Pictorial Abstruct
Bridging the 10 | Children use a head string to complete @ 10 and | Children use counters to complete a ten frame and Use a part-whole model and a numher line to
using numher | understand how this relates to the addition. understand how they can add using knowledge of support the calculation.
honds numhber honds to 10.
0000000 O0— OO
000006 0000
7 add 3 makes 10. “‘C
So; 7 add 5 is 10 and 2 more
00006 000 8"
00000 b
q 10 11 12 13
9+4=1]3
Subtraction Concrete Pictorial Abstruct
Subtructing | For example: 18 - 12 For example: 18 - 12 Use a part-whole model to support the
10sand 1s | Subtract 12 by first subtracting the 10, then | Use ten frames to represent the efficient method of | calculation.
the remaining 2. subtracting 12. Q
DR BB BHDDD (00000 eeeee (0) (%)
BBBBe BHDY | eeeee eee o 14
, 19-10=9
First subtract the 10, then take away 2. First subtract the 10, then subtract 2. 9-4=5
S0, 719 -14=5

Reasoning




Read, write and | Conwince me Missing symhols
interpret In my head I have two odd numhbers with a Whnbelszdxry.owlmow‘? Write the missing symhols ( + - =) in these
mathematical | difference of 2. What could they he? If yow know this: numhber sentences:
S Corwince me 12-9=3 7 | 3 [ 20
involving what other facts do you know?
add‘”mf,(*)’(_) 18 @ 20 @ 2
and equals (<)
signs
Year 2 In Year 2, they will start to see calculations presented in a column format, although this is not expected to he formalised until KS2. We
show the column method in Year 2 as an option; teachers may not wish to include it until Year 3.
Addition Concrete Pictorial Abstruct
Adding two | Add the 1s. Exchange 10 ones for a ten. Then 2-digit numbers with exchange Add the 1s.
2-digit add the 10s. Exchange 10 ones for a ten. Then add the 10s.
numhbers with Tens Ones lg
exchange Egi i 3|6
3 6 +2]9
i gg 4 |5
2 q :
Tens (-FO
ez o s
g8l \ H219
6)5
(Tens )| Ones -
TR
11
Subtruction Concrete Pictorial Ahstruct
Subtructing a Exchange 1 ten for 10 ones. Then subtract the 1s. | Using column subtraction, exchange 1 ten for
2-digit Then subtract the 10s. 10 ones. Then subtruct the 1s. Then subtract
numhber with the 10s.




Tens | Ones T O
299899 4 5
11 e
T @
Tens | Ones *% 5
99989
EEE 99089 -2 7
29999
T O
Tens | Ones % 15
99999 pam
P9 RN 2 7
WRWRN B
T O
Tens | Ones A 'S
99999 -2 7
ll 29 RR | 8
ETTYY

Year 3 In Year 3 especially, the column methods are huilt up gradually. Children will develop their understanding of how each stage of the
calculation, including any exchanges, relates to place value. The example calculations chosen to introduce the stages of each method may
often he more suited to @ mental method. However, the examples and the progression of the steps have heen chosen to help children develop
their fluency in the process, alongside a deep understanding of the concepts and the numhers involved, so that they can apply these skills
accurutely and efficiently to later calculations. The class should he encouwruged to compare mental and written methods for specific
calculations, and children should he encowrnged at every stage to make choices ahout which methods to apply.

Addition Concrete Pictorial Abstruct
Representing | Encowrage children to use their own Children understand and create bar models tor Use representations to support choices of
M,and equipment to represent problems with one or | 275 + 99 = ? i
selecting more steps. 374 i 275 [ aa j
appropnrate .
methods 275 | a9 I will add 100, then subtract 1 to find the
Thasare:pmsmnon&dethpﬂmtcrsam 275 + 99 = 374 solution,
appropriate methods. 128 + 105 + 83 = 7




I need to add three numbers.

128 + 105 = 233
233
1 :
(28 | 105 | 83|
316
[ : 1
EE | 83 |
Subtruction Concrete Pictorial Abstract
Representing Use bar models to represent subtructions. Children use alternative representations to check
problems

‘Find the difference’ is represented as two bars for
comparisomn.

Team A [ 454 ]

Bar models can also be used to show that a part

Children use inverse operations to check additions
and, subtructions.
The part-whole model supports understanding.
I have completed this subtractior.
525 - 270 = 255
I will check using addition.
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Year & In Year 4, the steps are shown without such fine detail, although children should continue to build their understanding with a secure hasis
in place value. In subtruction, children will need to develop their understanding of exchange as they may need to exchange across one or
two columns.

By the end of Year 4, children should have developed fluency in column methods alongside a deep understanding, which will allow them to
progress confidently in upper Key Stage 2.
Addition Concrete Pictorial Ahstruact
Representing Bar models may he used to represent additions in. | Use rounding and estimating on a numher
additions and pmblmnoont@xt& and,wjusnfy mental methods | line to check the reasonableness of an
strutegles
do b LG é I,O;OO Z,(jOO 3,(:00 4,0=00 5,0=00 6,(:00 7,(;00 8,;00 q,éOO |0.l=)00
l 1,373 | 794
+ 57 4
| 79 | 574 | —— 9712 + 6,149 = ?
| | |
I used rounding to work out that the
I chose to work out 574 + 800, answer should be approximately
then subtract 1. 7,000 + 6,000 = 7,000.
6,000
( ' )
[ 299 | 3000 |
This s equivalent to 3,000 + 3,000.
Subtruction | Concrete Pictorial Abhstruct
Representing Use bar models to represent subtractions where a. | Use inverse operations to check subtructions.
subtructions part needs to be calculated.
and checking I calculated 1,225 - 799 = 574
Les ota / /
strateg L I will check by adding the parts.
( : \ ThH T O
[ “ l e ] | 1,225 | 79 9
+ 5 7 4
Yes votes No votes l 799 I 574 J
| 3 2 3

I can work out the total number of Yes votes
using 5,762 - 2,899.

Bar models can also represent ‘find the difference
a&wsubtraotwnproblm

Luis [ 1,005 )

The parts do not add to make 1,225.
I must have made a mistake.

Reasoning




Add and subtract numhbers with up to 4 digits using the formal | Conwvince me

written methods of columnar addition and subtraction where - - 666 =8[] 5
appropriate
What is the largest possible numhber that will go in the rectangular box?
What is the smallest?

ici and i with decimals, i i value at e. Children and contrast methods, and
enswring every stag compare
Jjotting appropriate
ormal column methods. Bar models are used to the calculations required to solve and indicate where efficient
represent = Sy
methods can he chosen.
Addition Concrete Pictorial Abstract
Representing Bar models represent addition of two or more Use approximation to check whether answers
r[ £19,579 ] £28,370 | £16725 ] TThtTh H T O TThTh H T O
Sar £2600 2 3 4 0 5 2 3 4 0 5
} + 7 8 9 2 + 7 8 9 2
Holly [ £2600 | £1.450 ]
5 2 0 2 9 7 3 1 2 9 7
£4,050 L
ThHTO ThH T O
2‘ i g g i g g g I will use 23,000 + 8,000 to check.
4 050 6 6 50
Adding Use place value equipment to represent Uszplawvuluzequmentmaplmvuluzgnd, Add,usmg a column method, ensuring that
using column O - Tth Hth
addition Show 0-23 + 0-45 using place value Represent exchange where necessary. . g i ;
’ [e] Tth Hth O -Tth Hth 0 -5 8
oo 0 ee 09 2 Include exchange where required, alongside
°©®@©]@ +0-3 3 an of place value.
-leee | |eee® g & O -Tth Hth
o 0-9 2
Include examples where the numhbers of decimal *%
o . Tth Hth O - Tth Hth Include additions where the numbers of
00000 - 28 " decimal places are different.
© -joe  |eeee®| 2 3.4 +065=72




O - Tth Hth
3:-4 0
0-6 5

Checking Bar models represent subtractions in problem Children can explain the mistake made when
gies and contexts, including ‘find the difference. the columns have not heen ordered, correctly.
representing
Athletics Stadium [ 75,450 ]
| ° TThTh H T O
HESRapieE [:' 42,300 ? TeiiN t @m0
“ 6 7T 999 7 2 1 8 8 9

Velodrome

?

Use approximation to check calculations.
I calculated 18,000 + 4,000 mentally to
check my subtraction.

Subtructing

Explore complements to- a whole number hy
working in the context of length.

Use o place value grid to represent the stages of

column subtraction, including exchanges where
574 -225=7
[ o «[ T Hth O -Tth Hth
|“... . 0000 0000 5. &
©® 432 5
Exchange | tenth for 10 hundredths. .
[ o . Tth Hth O - Tth Hth
00000 (COOO0 000es s 7 4
- 6@ 00008 - > > s
[CECIO] -
Now subtract the 5 hundredths.
[ o o[ T Hth O - Tth Hth
00000 (COOOO 0000 s 7 '4
. @2 e00es| - 2 -2 s
EBPP s @
Now subtract the 2 tenths, then the 2 ones.
[ o [«] mh [  Hth O - Tth Hth
00088 (COOOY 00eese s 7 '4
. @@ 0000s| - 2 -2 5
[ 11 7] 3:4 9

Use column subtraction, with an
of decimal places.

3921 - 375 =7

O - Tth Hth Thth
3«9 2 |
-3 -7 5 0




Yeor 6 Children continue to compare and contrust methods, and they selectnwntatnwt}wdsorjottmgswhemappmpﬁatawwmdwmﬂwsam
Addition Concrete Pictorial Abstract
cr:u"dm"mdi'_‘ﬂ Use equipment to- model different Model calculations using a bar model to Understand the correct order of operations in
mm interpretations of a calculation with more demonstrate the correct order of operations in calculations without brackets.
than one operation. Explore different results. | multi-step calculations.
Understand how brackets affect the order of
3Ix5-2=72 1A s operations in a calculation.
OO OOO cab r4444444444444444]
IS eon U oo (L } s
trailer {6|6|6|6|6|6|6|6‘6|6|6‘6|6|6|6|6]] 4+ 9 =100
O0OR O0OR I6 %6
O ® O ® This can be writtenas: 16 x 4 + 16 x 6 (4 * 6) x 16
(6x4)+([Ex5) 10 x16 =160
3x5-2) 3x39-2 64 + 96 =160
Ll l
3 x 3=9 I5-2=13
Subtruction Concrete Pictorial Abstruct
Subtructing Use a bar model to show how unitising can Subtract efficiently from powers of 10.
larger 950,000 - 150,000 10,000 - 500 = ?
numhers That is 950 thousands - 150 thousands
( as0 )
150 800 5
So, the difference is 800 thousands.
950,000 - 150,000 = 800,000
Reasoning
Use their Conwvince me What else do you know? Missing symhols
knowledge of the: | Thyrep four-digit numhbers total 12435. If yow know this: Write the missing signs
o emims | What could they he? 86.7 + 133 = 100 (+ - x +) inthis number sentence:
carry out Conwvince me what other facts do yow know?
calculations 6 @123 = 61.9Q 19

operations




Multiolicatior, and Divisi

Yewr 1 Children develop an awureness of equal groups and link this with counting in equal steps, starting with 2s, 5s and 10s.
In Year 1, children encounter halves and quarters, and link this with their understanding of sharing. They experience key spatial
representations of these fructions, and learn to recognise examples and non-examples, hased on their awureness of equal parts of a whole.
Multinlicati C " Pictorial Abstruct
Finding the 100 squares and ten frames support counting in | Use a number line to support repeated addition
total of equal 2s, 55 and, 10s. through counting in 2s, 5s and 10s.
goupshy | NN ONONNCNNN RS
counting in 555 a0 10 10 10 10 10
2s, 5sand 10s | There are 5 pens in each pack ... T O fwm
5...10...15...20...25...30...35...40... 12|13 |14|I5|16[17 18 'q } } } } } |
e e e 0 10 20 30 40 50
41 |42 |43 | 44 | 45|46 |47 |48 4‘1
Division Concrete Pictorial Abstruct
Grouping Learn to make equal groups from a whole Represent a whole and work out how many Children may relate this to counting hack in
and find how many equal groups of a equal groups. steps of 2, 5 or 10.
Sort a whotle set people and ohjects into 00000000 L MeRg) Eaea;
equal groups A SR S
There are 10 in total, 01 23 4567 89Il10I 12131415
There are 5 in each group.
There are 2 groups:
There are 10 children altogether.
There are 2 in each group.
There are 5 groups.
Sharing Share a set of objects into equal parts and, | Sketch or draw to represent sharing into equal 10 shared into 2 equal groups gives 5 in each

work out how many are in each part.
XXX OOCOD

@ @

&0 » & (%

parts. This may be related to fractions.
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group.




Fractions Concrete Pictorial Abstract
Year 2 In Year 2, they learn to connect the language of equal groups with the mathematical symhols for multiplication and division. They learm
how multiplication and division can he related to repeated addition and repeated subtruction to find the answer to the calculation. In this
key stage, it is vital that children explore and experience a variety of strong images and manipulative representations of equal groups,
including concrete experiences as well as ahstruct calculations. Children hegin to recall some key multiplication facts, including doubles,
and an understanding of the 2, 5 and 10 times-tahles and how they are related to counting.
hﬂ@wzmwdemwummwmw#wﬂﬁmﬂmmmdwmmwwmmww$mwm&mwmwummwwmwmwumdmwﬂmnmmz
Multiplication Concrete Pictorial Abstruct
Learning x2, | Develop an understanding of how to" unitise Understand how to relate counting in unitised groups, | Understand how the times-tahles increase and
x5 and x10 groups of 2, 5 and 10 and learn corresponding and repeated addition with knowing key times-table | contain pattemns.

OO0O0O0O0OOOO0O
OO0O0O0O00OO0O00O

0000000000

0 10 20 30




0], 1x10=_)

70 + 70 + 10 = 30 2x10=[)
3 x10 =30 |o|oﬁ 3x10=_)
10 10 |()ﬂ 4xIO=D
10 10 10 mﬂ sx10=(_)
10 10 10 IOIOM 6X|0=D
7x10=)
gx10=])
axio=[_)
10 10 10 10 10 10 10 10 To'ﬂ 10 x 10 = [:]
3 groups of 10 ... 10, 20, 30 xi10=(
3 X 70 =30 10 10 10 10 10 10 10 10 10 10 |oﬁ 12 x I0=D
5 x 70 = 50
6 x 10 = 60
Division Concrete Pictorial Abstruct
Using known | Understand the relationship between Link equal grouping with repeated subtraction Relate times-table knowledge directly to
to solve
division& [©000000000 00OV COOOOV0000 0000000000 Ix10=10
[&%%%@ F 2 x 10 =20
O G G e 5 o z’o 2 ) 3x10 =30 [ Iused the 10
o e T diidd
. . 5x10=50 to help me.
“0 by 4 5 10. 6x10=60  3xI0=30. )
@%Q%@ Use o bar model, e of the | 7X10=70
Jse a lel to support understanding of 8 x 10 = 80
link between times-table knowledge and,
' . division. I know that 3 groups of 10 makes 30, so I
4 groups of 5 cars is 20 cars in total, know that 30 divided by 10 is 3.
20 divided by 4 is 5. &
——— ‘ 3x10=30 so 30+:10=3
Fractions Concrete Pictorial Ahstruct




Recognise, find, name and write fractions./, '/, "/, and.’/, of | Whet doryou notice? True or false?
) . Half of 20cm = 5cm

a length, shape, set of objects or quantity Loft=1 2 of 1220m = 9om
lofg=2
z0f12=3
Continue the patterm
What do youw notice?

YW3 Children build a solid grounding in times-tables, understanding the multiplication and division facts in tandem. As such, they should he as confident

knowing that 35 divided by 7 is 5 as knowing that 5 times 7 is 35.Children develop key skills to support multiplication methods: unitising, commutativity,
and how to use partitioning effectively. Unitising allows children to use known facts to multiply and divide multiples of 10 and 100 efficiently.

extend their skills to- multiplying and dividing 2- and 3-digit numhers by a single digit. Children develop column methods to support multiplications in
these cases. For successful division, children will need to- make choices ahout how to partition. For example, to divide 423 hy 3, it is effective to partition
423 into 300, 120 and 3, as these can he divided by 3 using known facts. Children will also need to understand the concept of remainder, in terms of a
given calculation and in terms of the context of the probhlem.

exploring the visual concept through fructions of shapes. Children leawrn how to find a fraction of an amount, and develop this with the aid of a bar model
and other representations alongside.in Year 3, children develop an understanding of how to add and subtruct fractions with the same denominator and

Multiplication Concrete Pictorial Abstruct
Multiplying a | Use place value equipment to model how 10 | Understand that multiplications may require an. | Children may write calculations in expanded
2-digit numher | ones are exchanged for a 10 in some exchange of 1s for 10s, and also 10s for 100s. column form, but must understand the link
by a 1-digit | multiplications. 4 x23=7 with place value and exchange.
numbher,
expanded I x24 =72 Children are encouruged to write the expanded,
method 3 x20 =60
Ix4 =12 T ) T O
[Ssssssssss! soooao I 5
50\8 a :rﬁlm; 8] [Easasasass ER-N-N-N:] % g
06|60 ] ererrrerrn e [ssnaunsnss) CRN-N: N —
+ S—— eennnnans] sosoo 6x5
g8 e eesnsasnns] ooooo + 6 x 10
. , .’ : , L arzm [namasnnns] ooooo -
60 o2 70+ 2 =72
4x23=92 5x28 =7

3 x24=60+172
3x24=70+2




I x24 =72 ] ¢}
0 | 000 28
@ OI00) x_ 3
®® OO 40 5x8
010} [0]010) 100 5x20
©® OOO 140
5x23=7
5x3=175
5x20 =100
5x23=1715
Division Concrete Pictorial Ahstruct
ZdAgwmunhzr Useplacevuhwequxpnw%toundarstand, Use place value equipment to understand the Partition to divide, understanding the
1-digit
numbher, with | Make 29 from place value equipment. 29+2=7? 67 children try to make 5 equal lines.
remainders | Share it into 2 equal groups. 67 =50 +17
R
57 + 5 - 13 remainder 2
29 = 2 = 14 remainder 1
T/zemaretmmgffup&afmm There are 13 children in each line and




Continue the pattermn.
What do” yow notice?

What abhout 1/10 of 20? Use this to work out 2/10 of 20, etc.

Yewr &4 Continue and emhed Year 3 for multiplication and division.
In Year 4, children hegin to work with fructions greater than 1. Decimals are introduced, as tenths in Year 3 and then as hundredths in Year
4. Children develop an understanding of decimals in terms of the relationship with fractions, with dividing by 10 and 100, and also with
place value.
Multiplication | Concrete Pictorial Abstruct
Multiplying Represent situations by multiplying three Understand, that commutativity can be used to Use knowledge of factors to simplify some
numhers DE | D
26| (s2229) 223555 835533 883988 839888 2ex5=12x2x5
S| W e0000e 500000 000000 900000 500000 I2x2x5=
28| 2@ C
Each sheet has 2 x 5 stickers. 2x6x10=120 2x10 =120
There are 3 sheets. 2 x10=120
So,24 x 5=120
There are 5 x 2 x 3 stickers in total, 10 x 6 x 2 = 120
60 x 2 =120
5i% 2 %:3:=30
10x3=30
Division | Concrete Pictorial Abstruct
Understanding | Use place value equipment to find, Represent the remainder as the part that cannot | Understand how partitioning can reveal
shared into 4 0000000000 OO00 @ @
89 shared into 4 equal groups 0000000000 OO00 ©
0000000000 OOOO
There are 24, and 1 that cannot be shared. | 000000000 OOOO @ e
0000000000 OO0OO
80 = 4 = 20
" + 5 = 14 remainder 2 i
95 + 4 = 23 remainder 3




Year 5 Building on their understanding, children develop methods to- multiply up to 4-digit numhbers by single-digit and 2-digit numhers. Children
develop column methods with an understanding of place value, and they continue to use the key skill of unitising to- multiply and divide by 10,
100 and. 1,000. Written division methods are introduced and adapted for division by single-digit and 2-digit numhbers and are understood,
alongside the area model and place value.
Multiplciation Concrete Pictorial Abstruct
Multiplying 2- | Partition one number into 10s and, 1s, then. | Use an area model and add the parts. Use column multiplication, ensuring
digit numhers | add the parts. 28 x 15 =7 understanding of place volue at each stage.
by 2-digit |23 x75=7 34
numhers 20m 8m HTo « 27
200 v
10m 20 x 10 = 200 m? 8xl0=80m?| | 00 438 Mme
8 0
+ 4 0
5m 20 x5 =100 m? 8x5=40m’ | 77 o T
50 28 x 15 = 420 23,8 3Ux7
3x15=45 ¥ 45 680 34x20
3 45 —_—

There are 345 bottles of milk in total. I




23 x 15 = 345 5
% P
23,8 34x7
6 8 0 34x20
9 18 34x27
|
Division Concrete Pictorial Ahstruct
Dundmgupto EXMngWva Usaplquabwqumwplawvulwgﬁd, Usesiwrtdunswrvforupwmdxgwmmlbus
four digits by | equipment. alongside short divisiorn. divided by a single digit.
a single digit The model uses grouping.
using short | 268 =2 =7? A sharing model can also be used, although the 0 5 5 6
division model would need adapting. v | 3 3g 3q 4
There is 1 group of 2 hundreds. T 0
There are 3 groups of 2 tens. 4[4 8 0/0/0]00)}
There are 4 groups of 2 ones. 000 3892 + 7 = 556
T 0O
264 =2 = 134 48 LEOE) :::00 Use multiplication to check.
| T 0 556 x 7 =7
e
: o 6x7=42
Lay out the problem as a short division. 50 x 7 = 350
500 x 7 = 3500
There is 1 group of 4 in 4 tens.
There are 2 groups of 4 in 8 ones. 3,500 + 350 + 42 = 3,892
Work with divisions that require exchange.
i [ssaeee ‘p:':z;?x_"“”“
UK
3
Understanding | Use sharing to explore the link between Use a bar model and other fraction Use the link hetween division and fractions to
hetween 1 whole shared between 3 people. 5;4_5_11
Each person receives one-third. 4 T4




fractions and
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Y 6 In Year 6, children develop a secure understanding of how division is related to fractions.
ear Multiplication and division of decimals are also- introduced, and refined in Year 6. : Children find fractions of amounts, multiply o fraction by @ whole number
and by another fraction, divide a fraction by a whole numhber, and add and subtract fractions with different denominators. Children hecome more confident
working with, improper fractions and mixed numbers and can calculate with them.
Understanding of decimals with up to 3 decimal places is built through place value and as fractions, and children calculate with decimals in the context of
measure as well as in pure arithmetic.
Children develop an understanding of percentages in relation to hundredths, and they understand how to work with common percentages: 50%, 25%, 10% and
1%.
Addition Concrete Pictorial Ahstruct
Multiplying | Explore decimal multiplications using place | Represent calculations on a place value grid. Use known facts to- multiply decimals.
decimals value equipment and in the context of 4 x3=172

measures.

4x03=12




3 groups of 4 tenths is 12 tenths.
4 groups of 3 tenths is 12 tenths.
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4 x03cm=12cm
4 x13=4+12=52cm
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4 x 003 =012

20 x 5 =100
20 x 0-5 =10
20 x 0-05 =17
Find families of facts from a known

I knowthat 18 x 4 = 72.
This can help me work out:
18x4=7

18x04=7

180 x 0-4 = ?

18 x 004 =2

Use a place value grid to understand the
H[T[oT.

Tth | Hth
2%3 6 .
0-2x3 0 || 6
0:02x3 .
Subtruction Concrete Pictorial Abstruct
Dividing by a | Use equipment to huild numhers from Use an area model alongside written division to | Use long division where factors are not useful (for
2-digit groups. model the process. example, when dividing by a
number using 2-digit prime number).
long division 37773 =72 Write the required multiples to support the division
NARRRRRAR) ? o
8 H8 55 88 B8 HS §5 88 HS HS 3| 377 | 377 +13=7?
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There are 14 groups. o w0 2 B3[37 7
|3| 130 | 130 | 17 | -1 30 10
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377 #13=29

the division completed ahove rather than at
the side.
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Divisions with a remainder explored, in
problem-solving contexts.

Dividi

Use place value equipment to explore

8 tenths divided into 4 groups. 2 tenths in
each group.

Use a bar model to represent divisions.

0-8
? l ? | 7 I ?
4x2=8 8+4=2
So0,4x02=08 08+4=02

Use short division to divide decimals with up.
to 2 decimal places.







